Equal 9 step grey scaling betweeh* gan=-55 & L*paw=55.6, Yoref=120, normalisation whiteW

L*0anm=55.6,L*0a=0.0, L*0anF55.7, Yoan=3-3, Yoa=20.0, Yoaw=120.0,Coay=Yoaw: Yoan=36.0
L*tan=35.0,L*tau=38.9,L*taw=55.7, Ytan=61.7, %tau=70.0, taw=120.0,Gray=Ytaw: Ytan=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG,Ua = 50/ Iog(5) [log (Y/Yy) ] with Y,=20

g%= 99, g%= 99 9%=10, g%=7 g%= 69, g%= 51
L*TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) 1223|*a Al*a
60+ :
Og 557 1.0 1200 1.0: 557 1.0 1200 1.0 55.7
; 6.2 3.0
8 417 0.875 76.7 0.628 495 0.701 983 0.853 52.6
304 3 47 2.8
7 278 075 490 0.391 44.8 0.473 845 0.715 49.8
: 3.4 2.6
6 13.9 0.625 313 024 413 0.307 75.6 0.589 47.2
: 2.4 2.3
o+@>5 00 05 200 0143 389 0.19 70.0 0.476 44.8
1 1.6 2.1
.4 -13.8 0375 128 0.081 37.3 0.111 66.4 0.373 42.7
: 1.1 1.9
3 -278 025 81 0.041 36.2 0.058 64.1 0.279 40.7
_30*. i 0.7 2.0
@2 417 0125 52 0016 354 0.023 626  0.184 38.8
3 0.5 3.8
@: 556 00 33 00! 350 00 617 00 35.0
-60-+- :

. : Yoait Y
*o = = ! normalisation: Yy =Yoayy0ait Yoref
DL*gF139  (=1,2,..8) | taiw =Yoawy 22l el

ied41-7n



